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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-13 0
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09:25 294 150.0 |Z=| 1Ri&@09:25 Bz (RPB{EEE)
10:10 294 150.0 (& =| 1Ri%@10:10 Bzh (GRBERSE)
10:50 294 150.0 (Z=| 1Ri%@10:50 Bzh (GRkEBERSE)
11:35 294 150.0 (2 =| 1BRi%e11:35 Bz (GkAFERSE)
12:30 294 150.0 (& =| 1Ri%e12:30 Bz (GkBERSE)
13:20 294 150.0 el Rige13:20 Bal (REAEHSE)
14:10 294 150.0 el Rige14:10 Bz (REAEHE)
15:15 294 150.0 S| Ri%e15:15 Bz (REERERSR)
16:25 294 150.0 | {Rige16:25 Bzh (REERSE)
23t 3234.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

FERRNEREEFEBAT (191.0 : 138.0), AgEHF—@E XAHH5
ZRIALBRERLE138.0 ml.

RER I Bl RECEIB SRk,

[E];%EC 5685.0 K5, EiLFAIKECAE & hEER

HEHECE (2163.0 vs 5685. 0) 15

REXRFEBL I HEREC/PHERR K, FIREIERNRR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=51 (2025-05-21)

R S et et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

1700 656

N
o
o
o

FRV (ml d-1)

100 A 1528

1100 1168 210

50 - - 1000

Warning: lcol ['FVI',| "FVO'] missing 20

( o )

200 + FRV
T e e ey

100 A

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

08:00 294 150.0 RS 1Ri&e08:00 Bah (FEEEEE)
08:30 294 150.0 R5| {Ri%&e08:30 Bzl (RFERS)
09:20 294 150.0 BE| 1Ri%e09:20 B (RF{EREE)
10:00 294 150.0 el Ri%@10:00 Bal (REAEESE)
10:35 294 150.0 RE| {Ri&e10:35 Bz (REERS)
11:15 294 150.0 BE| BRigel1:15 Bz GREAERESE)
12:15 294 150.0 Bl Rige12:15 Bal (REAEESE)
13:05 294 150.0 | Ri%@13:05 Bz (REAERESE)
13:55 294 150.0 BS| 1Ri%e13:55 Bz (GREMEESE)
15:25 294 150.0 |Z=| 1Ri&e15:25 Bz (GRBEEE)
21t 2940.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

ZRIAEPRERE138.0 ml.

FHERECE (2410.0 vs 6053.0) 1T 5

138.0), FAlEEHT—@ L XA S

AEREEC (2410.0) 5i%EEC (2000.0) RELK KA, /T
[E&EC 6053.0 K5, #iYF{KECAE&FikER




FRV (ml plant-1)

P3-13_0, Day=50 (2025-05-20)

150 Fmm e e e e m e m e m e m e m e m e m e mmmm e mmmCm e mmo =1
VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

T
N
o
o
o

100 A 1500 1528

321
1100 16481
50 - - 1000
00
Warning: lcol [FVI',| "FVO’'] missing 0
0 + - 08

=

— M_E

- 36

- 34 =

- 32

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0 ] L 3000
300 4 s EE- = = = 4
Bylnltl@D53 01:55: ET=1518 Fg=2100. 0 Ro=549.0

ET (ml/hr/plant)
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cumET (ml/plant)



m=445, FV0=0 m=550, FVO0=0 m=610, FV0=0
34,54 —@— M_E —— M_E 36.54 —@— ME
35.5 -
4_ -
34.0 36.0 -
35.0
33.5 -
35.5 -
34.5 -
33.0 -
35.0 -
34.0 1
32.5 1
T T T T T T T T T T T T
600 800 1000 445 450 455 550 555 560 610 615 620
m=660,m FV0=0 m=710,m FV0=0 m=765,m FV0=0 m=825,m FV0=0
31.01 o wE o WE 31.51 - ME —— ME
37.0 1
37.0 1
36.5 - 37.0 1
36.5 36.5 -
36.0 - 36.5 -
36.0 36.0
35.5 - 36.0 -
T T T T T T T T T T T T
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m=940,m FV0=0 m m=445,m FV0=0 m=550,m FV0=0
—o— ME —— MW —— MW 50.0 1 —@— MW
50. 0
50 -
36.5 - 49.5 -
49.5 -
49.0 -
26,0 49 1 49.0
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48.5 -
48 - 48.0 A
35.5 - 48.0
47.5 -
47 - 47.5 A
35.0 - 47.0 -
945 950 600 800 450 455 550 555 560
m=610,m FV0=0 m=660,m FV0=0 m=710,m FV0=0 m=765,m FV0=0
i 50. 0 - i
50. 0 ° . ° 50. 5 — I
49.5 - 4991 ' 50.0 -
1 49.
49.0 1 490 49.5
i 49.
48.5 48.5 49.0 -
48.
46,0 48.0 - 48,5 -
48.
47.5 -
47.5 4 48.0 1
47.
47.0 -
47 0 B T T T T T T 47 5 L T T T
615 620 665 670 715 720 765 770 775
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P3-13

BfiE) | EBIETK (D) | ElE (EH/HK) | XK SRR

07:10 294 150.0 FA| 1Ri&@07:10 B (RAERER)
07:35 294 150.0 FA| {Ri&@07:35 Bzl (GkAEEEE)
08:30 294 150.0 (2 =| 1Ri%@08:30 Bz (FkAHERSE)
09:15 294 150.0 (& =| 1Ri%e09:15 Bz (kBERESE)
09:55 294 150.0 |Z=| 1Ri&@09:55 Bz (KPBEEE)
10:30 294 150.0 (2 =| 1BRi%@10:30 Bz (kHAFERSE)
11:10 294 150.0 Bl BRigel1:10 Bz GREAERESE)
12:05 294 150.0 Bl Rige12:05 Bal (REAEESE)
13:00 294 150.0 | Ri%@13:00 Bz (REAERESE)
13:45 294 150.0 BS| 1Ri%e13:45 Bz (GGREMEESE)
15:00 294 150.0 S| Ri%@15:00 Bz (REERESR)
16:00 294 150.0 RS {Ri&e16:00 Bzl (REERSE)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

FERNEREEFEBAT (191.0 : 138.0), AgEHF—@E XAH5
ZRIAEPRERE138.0 ml.

AEREEC (2580.0) 5i%EEC (2000.0) REL KA, /T

[E;%EC 6133.0 K5, ZEiLHBIKECAEZ hEER

B RECE (2580. 0 vs 6133.0) 15



P3-13_0, Day=49 (2025-05-19)

150 A

100 A

50

(¢
200 -

150 A

100 A

FRV (ml plant-1)

50 A

1.0

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

1560 1500 656
1200

187

60 00
Warning: lcol [FVI',| "FVO’'] missing

Vi
FRV

T
N
o
o
o

- 1000

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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ET (ml/hr/plant)
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FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



38.

38.

37.

37.

37.

37.

37.

m=4350, FV0=0 m=500, FV0=0 m=560, FV0=0

—&— ME —&— ME 36. 75 —&— ME
35.0 - 36.27
36. 50 -
36. 0
34.5 - 36. 25 A
35.8 36. 00 4
34.0 -
35. 6 35. 75 A
33.5 A 35. 4 4 35. 50 -
33 - T T T T T T T T T 35. 25 - T T T
600 800 1000 450 455 460 500 505 510 560 565 570
m=610,m FV0=0 m=650,m FV0=0 m=685,m FV0=0 m=730,m FV0=0
37.75 A
00 - —&— ME | —&— ME 37 4 4 —-@— ME - ME
37.25 37. 50 A
.75 4 37.2 4
37.00 A 37. 25 A
.50 A 37.0 -
36. 75 A 37.00 A
. 25 A 36. 8
36. 50 36. 75 A
.00 4 ’ 36. 6
36. 50 -
36. 25 -
T T T T T T T T T T T T
610 615 620 650 655 660 685 690 695 730 735 740
m=770,m FVO=0 m=810,m FV0=0 m=855,m FV0=0 m=915,m FV0=0
38. 25 1
.75 4+ —@— M_E —-@— ME —@— ME - ME
37.75 A 38.0 A
: 38. 00 A
907 37.8 -
37. 50 A 37.75 A
. 25 A 37.6
37. 25 A 37.50 ~
.00 ~ 37. 4 A
37.00 - 37. 25 1
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i 37. 00 -
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T T T T T T 36' 75 - T T T T T T
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21 - ME 5104 ~® MW 52.01 - MW
04 52
50. 5 + 51.5 A
&1 51 -
6 - 50. 0 A
51.0 A
4 50 - 49.5 -
2 _
49 1 49.0 50.5 -
04 —0— MW
T T T T T T 48.5 - T T T T T T
965 970 975 600 800 1000 450 455 460 500 505 510
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51.
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50.

50.
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50.

50.

m=560, FV0=0

—— MW

560

T T
565 570

m=730,m FV0=0

—— MW
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T T
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m=915,m FV0=0

—— MW
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51.

51.

50.

50.
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51.

50.

50.

52.

52.
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50.

m=610, FV0=0

—— MW

610

T T
615 620

m=770,m FV0=0

—— MW
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T T
775 780

m=965,m FV0=0

—— MW
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970 975

52.
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51.

50.
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52.
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51.

51.

50.
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m=650, FV0=0

—— MW

650

T T
655 660

m=810,m FV0=0

—0— MW
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815 820
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52.
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m=685, FV0=0
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M_w
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T T
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m=855,m FV0=0

—0—
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